

# SOLITARY WAVE SOLUTIONS FOR SOME NON-LINEAR PARTIAL DIFFERENTIAL EQUATIONS USING SINE-COSINE METHOD

**Yusur Suhail Ali**

Computer Science Department, Al-Rafdain University College, Iraq

E-mail: [yusur.mutair@gmail.com](mailto:yusur.mutair@gmail.com)

## ABSTRACT

This paper implemented the sine-cosine method for solving Nonlinear partial differential equations PDES. Method has been successfully tested on Combined Kdv-Mkdv equation, Sharma-Tasso-Olver equation, Coupled Klien-Gordon equation, Generalized-Pochhammer-Chree equation (GPC). The calculations demonstrate the effectiveness and convenience of the method for nonlinear system of PDEs.

**Keywords:** *sine-cosine method, Nonlinear PDEs, Combined Kdv-Mkdv equation, Sharma-Tasso-Olver equation, Coupled Klien-Gordon equation, Generalized-Pochhammer-Chree equation (GPC).*

## 1. Introduction

Nonlinear evolution equations (NLEEs) have been the subject of study in various branches of Mathematical-physical sciences such as physics, biology, and chemistry. The analytical solutions of such equations are of fundamental importance since a lot of mathematical physical models are described by NLEEs.

The nonlinear wave phenomena observed in the above mentioned scientific fields, are often modeled by the bell-shaped sech solutions and the kink-shaped tanh solutions. The availability of these exact solutions, for those nonlinear equations can greatly facilitate the verification of numerical solvers on the stability analysis of the solution. The investigation of exact solutions of NLPDEs plays an important role in the study of these phenomena. In the past several decades, many effective methods for obtaining exact solutions of NLPDEs have been presented. In the literature, there is a wide variety of approaches to nonlinear problems for constructing traveling wave solutions[1-12].

This paper outlines the implementation of efficient and reliable technique which is sine-cosine method for solving nonlinear partial differential equations which are very important in applied sciences.

## 2. Description of the sine-cosine method

Consider the nonlinear partial differential equation in the form

$$F(u, u_t, u_x, u_y, u_{tt}, u_{xx}, u_{xy}, u_{yy}, \dots \dots \dots) = 0(1)$$

where  $u(x, y, t)$  is a traveling wave solution of nonlinear partial differential equation Eq. (1). We use the transformations,

$$u(x, y, t) = f(\xi)(2)$$

Where

$$\xi = x + y - \lambda t(3)$$

This enables us to use the following changes:

$$\frac{\partial}{\partial t}(\cdot) = -\lambda \frac{d}{d\xi}(\cdot), \quad \frac{\partial}{\partial x}(\cdot) = \frac{d}{d\xi}(\cdot), \quad \frac{\partial}{\partial y}(\cdot) = \frac{d}{d\xi}(\cdot)(4)$$

Using Eq. (3) to transfer the nonlinear partial differential equation Eq. (1) to nonlinear ordinary differential equation

$$Q(f, f', f'', f''', \dots \dots \dots) = 0(5)$$

The ordinary differential equation (5) is then integrated as long as all terms contain derivatives, where we neglect the integration constants. The solutions of many nonlinear equations can be expressed in the form:[10]

$$f(\xi) = \alpha \sin^\beta(\mu\xi) , \quad |\xi| \leq \frac{\pi}{2\mu} \quad (6)$$

or in the form

$$f(\xi) = \alpha \cos^\beta(\mu\xi) , \quad |\xi| \leq \frac{\pi}{2\mu} \quad (7)$$

Where  $\alpha, \mu,$  and  $\beta$  are parameters to be determined,  $\mu$  and  $\lambda$  are the wave number and the wave speed, respectively. Anwar[10] use

$$\left. \begin{aligned} f(\xi) &= \alpha \sin^\beta(\mu\xi) \\ f'(\xi) &= \alpha \beta \mu \sin^{\beta-1}(\mu\xi) \cos(\mu\xi) \quad (8) \\ f''(\xi) &= \alpha \beta(\beta-1) \mu^2 \sin^{\beta-2}(\mu\xi) - \alpha \beta^2 \mu^2 \sin^\beta(\mu\xi) \end{aligned} \right\}$$

and their derivative. Or use

$$\left. \begin{aligned} f(\xi) &= \alpha \cos^\beta(\mu\xi) \\ f'(\xi) &= -\alpha \beta \mu \cos^{\beta-1}(\mu\xi) \sin(\mu\xi) \quad (9) \\ f''(\xi) &= \alpha \beta(\beta-1) \mu^2 \cos^{\beta-2}(\mu\xi) - \alpha \beta^2 \mu^2 \cos^\beta(\mu\xi) \\ f'''(\xi) &= -\alpha \beta(\beta-1)(\beta-2) \mu^3 \cos^{\beta-3}(\mu\xi) \sin(\mu\xi) \\ &+ \alpha \beta^3 \mu^3 \cos^{\beta-1}(\mu\xi) \sin(\mu\xi) \end{aligned} \right\}$$

and so on. Substitute (8) or (9) into the reduced equation (5), balance the terms of the sine functions when (8) are used, or balance the terms of the cosine functions when (9) are used, and solve the resulting system of algebraic equations by using computerized symbolic packages. We next collect all terms with the same power in  $\sin^k(\mu\xi)$  or  $\cos^k(\mu\xi)$  and set to zero their coefficients to get a system of algebraic equations among the unknown's  $\alpha, \mu$  and  $\beta,$  and solve the subsequent system.

**Applications:**The sine-cosine method is generalized on four PDEs.

**3.1. Combined Kdv-Mkdv equation:**

Consider the following combined Kdv-Mkdv equation[13],

$$u_t - 2a_1uu_x - 3a_2u^2u_x + u_{xxx} = 0 \quad (10)$$

Where  $a_1$  and  $a_2$  are non-zero constant, and by letting  $u(x, t) = u(\xi)$  where,

$$u(\xi) = \alpha \sin^\beta(\mu\xi) \quad (11)$$

Where  $\alpha, \mu,$  and  $\beta$  are parameters that must be determined and by applying the wave variable  $\xi = kx + \lambda t,$  equation (10) turns to be the following ordinary differential equation:

$$\lambda u' - a_1 k(u^2)' - a_2 k(u^3)' + k^3 u''' = 0 \quad (12)$$

By integrating equation (12) once with zero constant, we have

$$\lambda u - a_1 k u^2 - a_2 k u^3 + k^3 u'' = 0 \quad (13)$$

Applying sine-cosine method, equation (13) becomes,

$$\lambda \alpha \sin^\beta(\mu\xi) - a_1 k \alpha^2 \sin^{2\beta}(\mu\xi) - a_2 k \alpha^3 \sin^{3\beta}(\mu\xi) + k^3 \alpha \beta \mu^2 (\beta-1) \sin^{\beta-2}(\mu\xi) - k^3 \alpha \beta^2 \mu^2 \sin^\beta(\mu\xi) = 0$$

(14)

Equating the identical powers and the coefficients of each pair of the sine function, leads us to the following algebraic system:

$$3\beta = \beta - 2$$

$$\lambda\alpha - k^3\alpha\beta^2\mu^2 = 0$$

$$-a_1k\alpha^2 = 0$$

$$-a_2k\alpha^3 + k^3\alpha\beta\mu^2(\beta - 1) = 0(15)$$

Solving the algebraic system of (15), we obtain

$$\beta = -1, \alpha = \pm \left(\frac{\sqrt{2k\mu}}{\sqrt{c}}\right) \text{ and } \mu = \pm \frac{1}{k} \sqrt{\frac{\lambda}{k}}$$

Then by substituting the values of  $\beta, \alpha$  and  $\mu$  in equation (14), the solution of equation (10) will be obtained and written in the form:

$$u(x, t) = \pm \left( \sqrt{\frac{2\lambda}{ck}} \right) \csc \left( \frac{1}{k} \sqrt{\frac{\lambda}{k}} (kx + \lambda t) \right) (16)$$

**3.2. Sharma-Tasso-Olver equation:**

Consider the following Sharma-Tasso-Olver equation [14],

$$u_t + 3au_x^2 + 3au^2u_x + 3auu_{xx} + au_{xxx} = 0 \quad (17)$$

Where  $a$  is a non-zero constant, and by letting  $u(x, t) = u(\xi)$  where,

$$u(\xi) = \alpha \sin^\beta(\mu\xi) \quad (18)$$

Where  $\alpha, \mu,$  and  $\beta$  are parameters that must be determined and by applying the wave variable  $\xi = kx + \lambda t$ , equation (17) turns to be the following ordinary differential equation:

$$\lambda u' + 3ak^2(uu')' + ak(u^3)' + ak^3u''' = 0 (19)$$

By integrating equation (19) once with zero constant, we have

$$\lambda u + 3ak^2uu' + aku^3 + ak^3u'' = 0(20)$$

Applying sine-cosine method, equation (20) becomes,

$$\lambda\alpha \sin^\beta(\mu\xi) + 3ak^2\alpha^2\mu\beta \sin^{\beta-1}(\mu\xi)\cos(\mu\xi) + ak\alpha^3\sin^{3\beta}(\mu\xi) + ak^3\alpha\beta\mu^2(\beta - 1)\sin^{\beta-2}(\mu\xi) - ak^3\alpha\beta^2\mu^2\sin^\beta(\mu\xi) = 0(21)$$

Equating the identical powers and the coefficients of each pair of the sine function, leads us to the following algebraic system:

$$3\beta = \beta - 2$$

$$\lambda\alpha - ak^3\alpha\beta^2\mu^2 = 0$$

$$3ak^2\alpha^2\mu\beta = 0$$

$$ak\alpha^3 + ak^3\alpha\beta\mu^2(\beta - 1) = 0(22)$$

Solving the algebraic system of (22), we obtain

$$\beta = -1, \quad \alpha = \pm\sqrt{2}\mu k i \text{ and } \mu = \pm\frac{1}{k}\sqrt{\frac{\lambda}{ak}}$$

Then by substituting the values of  $\beta, \alpha$  and  $\mu$  in equation (22), the solution of equation (17) will be obtained and written in the form:

$$u(x, t) = \pm i \sqrt{\frac{2\lambda}{ak}} \operatorname{csc}\left(\frac{1}{k}\sqrt{\frac{\lambda}{ak}}(kx + \lambda t)\right) \quad (23)$$

### 3.3. Coupled Klien-Gordon equation:

Consider the following Coupled Klien-Gordon equation[15],

$$u_{tt} - u_x + a_1 u + a_2 u^3 + a_3 v u = 0 \quad (24)$$

$$v_t - v_x + 4u_t = 0 \quad (25)$$

Where  $a_1, a_2$  and  $a_3$  are non-zero constant, and by letting  $u(x, t) = u(\xi)$  where,

$$u(\xi) = \alpha \sin^\beta(\mu\xi) \quad (26)$$

Where  $\alpha, \mu,$  and  $\beta$  are parameters that must be determined and by applying the wave variable  $\xi = kx + \lambda t$ , equations (24) and (25) turn to be the following ordinary differential equations:

$$\lambda^2 u'' - ku' + a_1 u + a_2 u^3 + a_3 v u = 0 \quad (27)$$

$$\lambda v' - kv' + 4\lambda u' = 0 \quad (28)$$

By integrating equation (28) once with zero constant, we have

$$(\lambda - k)v + 4\lambda u = 0 \quad (29)$$

Where,

$$v = \frac{-4\lambda u}{\lambda - k} \quad (30)$$

Therefore, equation (27) will become:

$$\lambda^2 u'' - ku' + a_1 u + a_2 u^3 - a_3 \frac{4\lambda u^2}{\lambda - k} = 0 \quad (31)$$

Applying sine-cosine method, equation (31) becomes,

$$\lambda^2 \alpha \beta \mu^2 (\beta - 1) \sin^{\beta-2}(\mu\xi) - \lambda^2 \alpha \beta^2 \mu^2 \sin^\beta(\mu\xi) - k \alpha \mu \beta \sin^{\beta-1}(\mu\xi) \cos(\mu\xi) + a_1 \alpha \sin^\beta(\mu\xi) + a_2 \alpha^3 \sin^{3\beta}(\mu\xi) - a_3 \frac{4\lambda}{\lambda - k} \alpha^2 \sin^{2\beta}(\mu\xi) = 0 \quad (32)$$

Equating the identical powers and the coefficients of each pair of the sine function, leads us to the following algebraic system:

$$\begin{aligned} 3\beta &= \beta - 2 \\ -\lambda^2 \mu^2 \alpha \beta^2 + a_1 \alpha &= 0 \\ -k \alpha \mu \beta &= 0 \\ -a_3 \frac{4\lambda}{\lambda - k} \alpha^2 &= 0 \end{aligned}$$

$$\lambda^2 \alpha \beta \mu^2 (\beta - 1) + a_2 \alpha^3 = 0 \quad (33)$$

Solving the algebraic system of (33), we obtain

$$\beta = -1, \quad \alpha = \pm \sqrt{\frac{2}{a_2}} \lambda \mu i \quad \text{and} \quad \mu = \pm \sqrt{\frac{a_1}{\lambda}}$$

Then by substituting the values of  $\beta, \alpha$  and  $\mu$  in equation (32), the solution of equation (31) will be obtained and written in the form:

$$u(x, t) = \pm i \sqrt{\frac{2a_1}{a_2}} \operatorname{csc} \left( \sqrt{\frac{a_1}{\lambda}} (kx + \lambda t) \right) \quad (34)$$

### 3.4 Generalized-Pochhammer-Chree equation (GPC):

Consider the following Generalized-Pochhammer-Chree equation [16],

$$u_{tt} - u_{ttxx} - (a_1 u + a_2 u^{n+1} + a_3 u^{2n+1})_{xx} = 0 \quad (35)$$

Where  $a_1, a_2$  and  $a_3$  are non-zero constant, and by letting  $u(x, t) = u(\xi)$  where,

$$u(\xi) = \alpha \cos^\beta(\mu \xi) \quad (36)$$

Where  $\alpha, \mu,$  and  $\beta$  are parameters that must be determined and by applying the wave variable  $\xi = kx + \lambda t$ , equation (35) turns to be the following ordinary differential equation:

$$\lambda^2 u'' - \lambda^2 k^2 u'''' - k^2 (a_1 u + a_2 u^{n+1} + a_3 u^{2n+1})'' = 0 \quad (37)$$

By integrating equation (37) twice with zero constant, we have

$$\lambda^2 u - \lambda^2 k^2 u'' - k^2 (a_1 u + a_2 u^{n+1} + a_3 u^{2n+1}) = 0 \quad (38)$$

Applying sine-cosine method, equation (38) becomes,

$$\lambda^2 \alpha \cos^\beta(\mu \xi) - \lambda^2 k^2 \left( \alpha \beta \mu^2 (\beta - 1) \cos^{\beta-2}(\mu \xi) - \alpha \beta^2 \mu^2 \cos^\beta(\mu \xi) \right) - k^2 \left( a_1 \alpha \cos^\beta(\mu \xi) + a_2 \alpha^{n+1} \cos^{\beta(n+1)}(\mu \xi) + a_3 \alpha^{2n+1} \cos^{\beta(2n+1)}(\mu \xi) \right) = 0 \quad (39)$$

Equating the identical powers and the coefficients of each pair of the cosine function, leads us to the following algebraic system:

$$\beta(2n + 1) = \beta - 2$$

$$\lambda^2 \alpha + \lambda^2 k^2 \alpha \beta^2 \mu^2 - a_1 k^2 \alpha = 0$$

$$-a_2 k^2 \alpha^{n+1} = 0$$

$$-\lambda^2 k^2 \alpha \beta \mu^2 (\beta - 1) - a_3 k^2 \alpha^{2n+1} = 0 \quad (40)$$

Solving the algebraic system of (40), we obtain

$$\beta = \frac{-1}{n}, \quad \alpha = \mp i \left( \frac{\lambda \mu}{n} \right)^{\frac{1}{n}} \left( \frac{1+n}{a_3} \right)^{\frac{1}{2n}} \quad \text{and} \quad \mu = \pm n \frac{\sqrt{a_1 k^2 - \lambda^2}}{\lambda k}$$

Then by substituting the values of  $\beta, \alpha$  and  $\mu$  in equation (39), the solution of equation (37) will be obtained and written in the form:

$$u(x, t) = \pm i \left( \frac{\sqrt{a_1 k^2 - \lambda^2}}{k} \right)^{\frac{1}{n}} \left( \frac{1+n}{a_3} \right)^{\frac{1}{2n}} \sec^{\frac{1}{n}} \left( n \frac{\sqrt{a_1 k^2 - \lambda^2}}{\lambda k} (kx + \lambda t) \right) \quad (41)$$

#### 4. ACKNOWLEDGMENT

The author gratefully acknowledges the support from Dr. Anwar Ja'afar Mohamad Jawad and this support is genuinely and sincerely appreciated.

#### REFERENCES

- [1] Ali A.H.A. , A.A. Soliman , and K.R. Raslan,(2007), Soliton solution for nonlinear partial differential equations by cosine-function method, *Physics Letters A* 368 (2007) pp. 299–304.
- [2] El-Wakil, S.A. and Abdou, M.A. (2007). New exact travelling wave solutions using modified extended tanh-function method, *Chaos Solitons Fractals*, Vol. 31, No. 4, pp. 840-852.
- [3] Fan, E. (2000). Extended tanh-function method and its applications to nonlinear equations. *PhysLett A*, Vol. 277, No.4, pp. 212-218.
- [4] Hirota, R. (2004). *The Direct Method in Soliton Theory*, Cambridge University Press.Inc, M. and Ergut, M. (2005).Periodic wave solutions for the generalized shallow water wave equation by the improved Jacobi elliptic function method, *Appl. Math. E-Notes*, Vol. 5, pp. 89-96.
- [5] Khater, A.H., Malfliet, W., Callebaut, D.K. and Kamel, E.S. (2002). The tanh method, a simple transformation and exact analytical solutions for nonlinear reaction–diffusion equations, *Chaos Solitons Fractals*, Vol. 14, No. 3, PP. 513-522.
- [6] Ma, W. X. and Lee, J. H. (2009). A transformed rational function method and exact solutions to the (3 + 1)-dimensional Jimbo-Miwa equation, *Chaos Solitons Fractals*, Vol.42; pp. 1356 – 1363.
- [7] Ma, W. X. and Fuchssteiner, B. (1996). Explicit and exact solutions to a Kolmogorov-Petrovskii-Piskunov equation, *Int. J. Non-Linear Mech.* Vol. 31; pp. 329 – 338.
- [8] Malfliet, W. (1992). Solitary wave solutions of nonlinear wave equations, *Am. J. Phys*, Vol. 60, No. 7, pp.650-654.
- [9] Wazwaz, A.M. (2006). Two reliable methods for solving variants of the KdV equation with compact and noncompact structures, *Chaos Solitons Fractals*, Vol. 28, No. 2, pp. 454-462.
- [10] Jawad A. J. M , Soliton Solutions for Nonlinear Systems (2+1)-Dimensional Equations , *IOSR Journal of Mathematics (IOSRJM) ISSN: 2278-5728 Volume 1, Issue 6 (July-Aug 2012)*, pp. 27-34.
- [11] Wazwaz, A.M. (2004). The sine-cosine method for obtaining solutions with compact and noncompact structures, *Appl. Math.Comput*, Vol. 159, No.2, pp. 559-576.
- [12] Parkes E. J. and B. R. Duffy(1998), An automated tanh-function method for finding solitary wave solutions to nonlinear evolution equations, *Comput. Phys. Commun.* 98 ,pp. 288-300.
- [13] Dianchen Lu, Qian Shi, New Solitary Wave Solutions for the Combined KdV-MKdV Equation, *Journal of Information & Computational Science* 7: 8 (2010) pp.1733-1737.
- [14] Jawad A. J., Marko D. Petkovic´, and Anjan Biswas, Modified simple equation method for nonlinear evolution equations, *Applied Mathematics and Computation* 217 (2010) pp.869–877.
- [15] Hua Liu, and Guoguang Lin, Stability of solitary waves for symmetric coupled Klein-Gordon equations in 2-dimensional, *Theoretical Mathematics & Applications*, vol.2, no.1, 2012, pp.103-116.
- [16] KourosParand, Jamal Amani Rad, Some solitary wave solutions of generalized Pochhammer-Chree equation via Exp-function method, *World Academy of Science, Engineering and Technology* 43 2010.